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Actually, not quite so good:
--- Want to see sequence into IR
Instruction caching ==> not one memory access per instruction execution
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M1 : target common case at expense of others (ADD vs. BR) and at expense of CR
M2 : break ADD into two steps ==> increased CR, benefits both ADD and BR
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--- Avg CPI is important SNQP JOL' ( 1 3 =2 4
--- Determined by job mix NIX'? 0'3) + (0 '7) )

What else? (03)2 + (0.7)2 = &0

--- Cache effects, instruction order, ISA



How do we measure cycles per instruction?
,] C .I_ _\_ 5’1-&‘:{—65' Ok for simple machines, e.g., LC3
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2 H aAA Ny Cd(w'{'efs doesn't always gives you what you want.

3‘ S UMMQJ:O'Y\ pretty good, but timing-accurate simulation is difficult

"/. E')écuj'e dMCS —&}MC d’ Try to see what only ADDs require, e.g.

==> Make a guess at CPI per class

Measure overall time ==> #cycles
Try varying % ADDS, see effect
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Things that make a
difference:

--- source Program

N + --- Compiler
& al
--- ISA

--- micro-architecture

--- Data

--- Execution environment
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